AQA GCSE Geography

Paper 3 Geographical applications

Gease write clearly in block capitals.

Centre number Candidate number
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Candidate signature

For Examiner's Use
Question Marks
Materials 01.1 /1
For this paper you must have: 01.2 /1
+ the Pre-release resources booklet (enclosed) 01.3 /1
« the OS key insert (enclosed) 01.4 /6
+ apencil 01.5 /2
* arubber 02.1 /1
« aruler. 02.2 /1
02.3 /6
You may use a calculator.
Y 03.1 /6
Instructions 03.2 /12
» Use black ink or black ball-point pen. Total
Fill in the boxes at the top of this page. 137

* Answer all questions.

* You must answer the questions in the spaces provided. Do not write outside the box around each
page or on blank pages.

* Do all rough work in this book. Cross through any work you do not want to be marked.

Information
* The marks for questions are shown in brackets.
* The total number of marks available for this paper is 37.
» Spelling, punctuation, grammar and specialist terminology will be assessed in question 03.2

geography




For the multiple-choice questions, completely fill in the circle alongside the appropriate answer.

CORRECT METHOD [e] WRONG METHODS [® [ [=]#]

If you want to change your answer you must cross out your original answer as shown. =

If you wish to return to an answer previously crossed out, ring the answer you now wish to select

as shown. @

Section A Issue Evaluation
Answer all questions in this section.

Study Figure 1, ‘England’s housing challenge’ in the resource booklet.

01.1 In which year was the total supply of new affordable housing highest in England?

Shade one circle only.

A 2011 O
B 2015 O
C 2018 O
D 2019 O

[1 mark]
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01.2 Complete the graph below using the following data.

| Number of new homes built in England in 2022 ] 170 000

[1 mark]

New Housing Supply
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01.3 Give the mode Government spending on housing and community amenities in
England (2021).
[1 mark]
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01.4 “There will be need for sensitive development of the rural-urban fringe’'.

Discuss this statement.
[6 marks]

Extra space
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01.5 Give two effects of urban sprawl.
[2 marks]
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Study Figure 2 in the resource booklet, “The proposed Tudeley Village development.

02.1 Give the six-figure grid reference for the proposed railway station.
[1 mark]

02.2 Suggest why Tudeley village is described as ‘self-contained’.
[1 mark]
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02.3 The development of greenfield sites should be seen as an opportunity rather than a
problem.

Do you agree? Explain your answer.
[6 marks]

Extra space
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Study figure 3 in the resources booklet, ‘Different perspectives on the Tudeley
village development’.

03.1 The proposed Tudeley development is an example of a sustainable settlement.

To what extent do you agree with this statement?

[6 marks]

Extra space
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03.2
Study Figure 3 in the resources booklet, ‘Different perspectives on the Tudeley
Village development’.

The proposal to build the village was dropped in December 2023. Do you think this
was the correct decision?

Yes No

Tick (V') the box to show your choice.

Use evidence from the resource booklet and your own understanding to explain your
answer.
[9 marks]
[+3 SPaG]
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Extra space

[9 marks]

[+3 SPaG marks]
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